
10-05-2021

Rigid Side Guard Receiver 



10-05-2021

Item Number Part Number Description Quantity Retail

1, 2, 3, 4 503141 Wide Side Guard Receiver Assembly Black
Anodized Rigid 1 $51.49

5 - 8 501330 Wide Side Guard Clamp Receiver Assembly
Black Anodized Rigid 1 $69.86

1 004442 Wide Side Guard Receiver 1-3/8" w/ Chamfer
Black Anodized Rigid 1 $44.13

Replaced part number 001415. This design effective
October 23rd, 2020

2 101125 M6 x 55 BTN SHCS BLKZC 1 $2.10

3 100746 M6 Flat Washer Blk Zn 1 $1.58

4 100658 M6 Nylock Nut Blk Zn 1 $1.05

5 004443 Wide Side Guard Clamp Receiver 1-3/8" w/
Chamfer Black Anodized Rigid 1 $47.28

Replaced part number 001437. This design effective
October 23rd, 2020

6 000554 Side Guard Clamp Rigid 1 $20.47

7 101810 M6 x 35 SHCS BLK ZC 2 $1.05

8 102326 Flat Washer ID .254" x OD .396" Thickness .047"
Zinc 2 $0.53


